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6.4 Exponential Growth and Decay

Ex 1) Solve the initial value problem.
dy X

X Ty Xx=4,y=3

ydy=-xdx | ¥ -

A
é ;&—(O\\(
Q\slls ﬂ:'—“/_*c
A
(S“ S SING : ’

b ) j:c
i)
4 X3S
Y LTy




S‘[’CP S

. S(Par;+z Ihe varioles
2. Lntkg ra.'l-e/A nbder vahvg

3. Selye foe €
q.go\\m Q‘“ \‘3




March 06, 2013

Ex 2) Solve the initial value problem [y =4
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Ex3) Solve the initial value problem.
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Ex 4) Solve the initial value problem .y =%
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Ex 5) Solve the initial value problem
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Ex 6) Find the solution to the differential equation
assuming k is a constant
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Ex 7) Find the solution to the differential equation
assuming k is a constant
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